In exercise 3.4.15 I diagrammed part of Susan Sherwin’s positive argument for her conclusion that women have a right to choose abortion as follows.




Premise W.4 is unobjectionable.  (People can believe just about anything!)  But there are objections to the inference she draws from W.4.  The way to state an objection to this inference is to think of a situation where W.4 is true but W.3 false.  Type your objection below.  If you need help, I put a hint on the next page.

Hint to finding an objection to the inference from W.4 to W.3:  Think of a possible life plan a woman could have which is non-compelling (ideally, a life plan that everyone, including Sherwin herself, would regard as non-compelling, failing that, a life plan that many people would regard as non-compelling).

My objection to the inference from incompatible life plan to compelling reason for abortion:

If the life plan is not compelling, then the fact that having a child is incompatible with the plan is not compelling, either.  And a life plan need not be compelling but might be frivolous or irresponsible or otherwise deplorable.  For example, a life plan to do whatever the husband desires (and he desires only boys, not girls); so when ultrasound reveals a perfectly healthy baby girl, continuing the pregnancy is incompatible with her life plan.  [I’m guessing that Sherwin will find such a life plan deplorable and not necessarily compelling.]  To take another example, in her seventh month a woman reads a glossy travel brochure and wants to abort so she can look good in a swimming suit a couple months sooner in Europe.  When we ask her, “Is this your life plan?” she replies that the opportunities she could miss in Europe to meet people might have devastating repercussions throughout her life—this could be her only chance to meet a millionaire!”  [I’m guessing that most people would find this life plan frivolous and not compelling.]

Again, you may have thought of a different objection or objections.  If so, well done!

W.4 A woman may simply believe that bearing a child is incompatible with her life plans at the time.





W.3 Women have abortions for a wide variety of compelling reasons.








